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Dylan J. Temples Northwestern University, Quantum Mechanics II : Solution Set Four

1 Problem #1: Stark Effect for Hydrogen n = 3 Levels.

Work out the Stark effect to linear order in the electric field for the n = 3 levels of Hydrogen. Ignore
relativistic corrections to the level structure. Sketch the energy level diagram and label each of
the levels by the quantum numbers of the unperturbed Rydberg states. Calculate the eigenvectors
that diagonalize the perturbation within the subspace of n = 3 levels.

Let us denote the n = 3 states of the Hydrogen atom as |¢,m). If the applied electric field E = &2
( 2 is unit vector) is aligned with the z axis, the selection rules are A/ = +1 and Am = 0.
The electrostatic potential ¢ = —&z (z is the coordinate) is coupled to the electron charge —e,
so the perturbation is V/ = e&2, where 2 is now a quantum-mechanical operator. Consider the
perturbation matrix defined by the elements V;; = (i| — e€z|j), where i, € {|¢,m)}:
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note the kets are just there as labels and are obviously not included in the perturbation matrix.
This leaves only four matrix elements to be calculated:
a =e& (1,02/0,0) (2)
B = e (2,0[2[1,0) 3)
v =e& (2,—1]2]1,-1) (4)
d=e&(2,112]1,1) . (5)

The n = 3 states of the Hydrogen atom, represented in the spherical coordinate basis, are

3 —_ T ¢ '
re,m>=\/ (o) siraone " (o) B9 () v = RV 0.0) . (6)

where L’ (x) are the generalized Laguerre polynomials and Y;™(6, ¢) are the spherical harmonics,
and ag is the Bohr radius. Consider the Z = rcos# operator, in the spherical coordinate basis,
acting on the states indicated:

£10,0) = Ro(r)r cos(6) Y, (6 %RO Y2(0,6) (7)

2[1,0) = Ry(r)rcos(0)Y(0, ¢) = rRy(r (2\/23 —— 9> (8)
201, —1) = Ry (r)rcos(0)Y;L(0, ¢) = \;’5 ) (9)

£[1,1) = Ra(r)r cos(0)Y; (0, ) = Jg Ri(r)Y3(0,6) . (10)
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Dylan J. Temples Northwestern University, Quantum Mechanics II : Solution Set Four

of which three are easily obtained!. The first matrix element is

o) T 27
o= —e# (1,0[20,0) = —e& / / / (r2 sin 0drd0dg) B (1Y (6, 6)—— Ro(r)Y2(6,6)  (11)

V3
:_‘j/é; " orior 2dr/ 0,6)d0 (12)
:_f/é;’ Oer;(r)Ro(r)(TZdr), (13)

where the angular integral is unity due to orthonormality (note that dQ = sin#dfd¢). Similarly,
for the m # 0 matrix elements:

= —es 2,131, -1) = —“C [ e Ry R () () (14)
V5 Jo
é() o0
6= —e&(2,1)31,1) = ——= [ rRi(r)Ry(r)(r*dr) , (15)
V5 Jo
and finally
B =—e& (2,0/2]1,0) (16)

)rRi(r

_ s / / / 712 sin BdrdBAG) Ry (1) Y (6. 6y R (r <2\/§ — 9> 90,6)  (17)
- —2\[65 / / / Qﬂ 12 sin 0drdfde) RS (r)YL* (0, ¢)r < _Se029> 2(0,6)  (18)
— _2\[%’/ r2dr)R5(r)rRy (r )/dQ —);2(;‘020 (19)

_ —eg/ (P2dr) R (1) By () | (20)

so all that remains is to calculate two integrals:
= [ rRi ) Rlr) ) (21)
ho = [ R OR0A) (22)

using Equation 6, and defining ¢ = 2/(3ag), we can write? the integrands as

4 —¢r
r3R1(7’)R0(r) = 5126\/5 <—é§3r7 + 2527’6 — 5¢r° + 47"4) (23)
3 Ry(r Ry (1) = e e (—&r" + 4r%) (24)
2V 122./5 ’

"Multiply cos8Y? by the factor \/g %, and we obtain

51 nr® = LB o
\/;2c059Y1—4 ﬂ_(COb 0)

then multiply 3 — sec? # on both sides and isolate cos Yy, to obtain the result.
2See attached work.
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by noting the radial equations are real so R; = Ry. These integrals can be evaluated using the

identity>:
* n _—ax n!
/0 ae = (25)
which, after some work yields the results
Iy = —9V2a (26)
9
112 = —5\/5610 . (27)

We note that all the integrals evaluate to real quantities so o = o, and similarly for 3, -, 6.

We can summarize the perturbation matrix elements as

a=e& (1,0|2|0,0) = —3v6age = o* (28)
B =e& (2,0|2[1,0) = —3V3ap&e = §* (29)
9
7 =8 (2,~1[2[1,-1) = —Saged =7 (30)
9
0 =& (2,1[21,1) = —Jaged = 5", (31)
and if we define ) = 3aged’, the perturbation matrix becomes

0 0 v6 000 0 00

00 0 003 0 00

V6 0 0 00 0 V3 00

00 0 000 0 30
Vij=-n]10 0 0 000 0 0 0 (32)

0 2 0 000 0 00

0 0 v/3 000 0 00

00 0 200 0 00

00 0 000 0 00

To diagonalize this matrix, we can break it down into smaller subspaces, one for each value of m,
because there is no mixing between states with different m values. We will return to writing the
matrix elements are a, 3,7,6. We can note the m = 2 and m = —2 subspaces are one state each
and cannot mix with any other state, so these states are stable under the perturbation and have
an energy shift of zero. Let us begin in the m = 1 subspace, which has the basis {|1,1),]2,1)}.
The perturbation matrix for this subspace is

1,1) [2,1)
J (2,1] 0 0
from which we can easily determine the eigenvalues +9 with the associated eigenvectors

1 3
m=1+)=—(|1,1)+12,1)) = AE=45=—= 34
| )= (L1 +12.1) 0 (34)

1 3
m=1,-)=—(|1,1)—[2,1)) = AE=-0=12n, (35)

e 2

3Zwillinger. CRC Standard Mathematical Tables and Formulae, 31 ed. Equation 641.
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where the plus or minus in the ket denotes which eigenvalue it is associated with (note that since
the matrix elements are all negative, when we insert the values the kets with + will have negative
energy shifts). We can repeat this process for the m = —1 subspace, with basis {|1,—1),|2,—1)}:

|17_1> |27_1>
! <27 _1| Y 0

from which we can easily determine the eigenvalues ++ with the associated eigenvectors

|m:—1,+>=\}i(|1,—1>+|1,—1>) = AE:+7:—;17 (37)
|m:—1,—>:i(|1,—1>—|1,—1>) = AE:—7:+§17. (38)

NG 2

Finally, we repeat this for m = 0, which is the only non-trivial diagonalization. This subspace has
the basis {|0,0),]1,0),|2,0)}, and the perturbation matrix is

0,0) [1,0) 2,0)

o (0.0 /0 o 0
Vi’ = <1,0|< & 0 3 ) (39)
(2,0 \ 0 & 0

if we represent the eigenvalues with u, we can write the characteristic equation

0=p(p? = B*)(—p) +’u, (40)

which has solutions p = 0, &+/a? + 2. Letting x,y, z represent the elements of the eigenvector:
|0,0),|1,0),|2,0), respectively, the first eigenvalue, u = 0 gives the equations

ay =0 (41)
ar + Bz2=0 (42)
By =0, (43)
implying a = —f3, y = 0. We can write the normalized eigenvector as
1
(810,0) —a|2,0)) = AE=0. (44)

The second and third eigenvalues give the equations

ay = +£v/a? + f2x (45)
ax + Bz =t/ a? + %y (46)
By =+va?+ B2, (47)
which is solved by
5 r =«
a
=y r=-———y 50 =+\/a?2 452 . 48
+y/a? 4 (2 +ya?+ 2 i 5 g )
z
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We can calculate the normalization factor for the resulting eigenvector:

1 1 1
N = = (49)
\/a2+(i o2t Bo)2 4 B2 V2.\/a2? + 32
If we insert the values of the matrix elements «, 3,7, d, we get the results
1
]m:0,0>:%(—\/?:77\0,0>+\/677\2,0>) = AE=0 (50)
1
[m = 0,%) = —=(V61[0,0) 31 [1,0) + V31 |2,0)) = AE =53 (51)
3v2n
The first-order energy shifts and their corresponding perturbation eigenstates (now normalized)
are:
AE = —:gn = |m=0,+) = % 0,0) + 75 [1,0) + = [2.0)
AE:*ETI = |m:13+> = ?(|171>+|2a1>)
m=-1,4) = Z5(IL,-1)+[2,-1))
AE =0 = |m=2) = [2,2)
m=0,0) = —1:00,0)+/212,0) (52)
‘m = _2> = |2a _2>
AE=gn = Im=1-) = (LD-21)
m=-1,-) = —5(I1L,-1)—[2,-1))

this energy splitting is illustrated in Figure 1, below.

N Eo
3q B3 M2 &30y - & 1310Y +  [310
3, ’
Pl i (k) -mny)
_a” £(31-%-132-1))
AL
30 m) 27 132 2) 132 -2)
0 1 S - -
£ 1800) + JE|320%
N
i NS (13115 + 1321))
>t % (3 1-0+ (32 -19)
g L mlon)  dlaioy giamey
N

Figure 1: Energy splitting diagram of the n = 3 states of the Hydrogen atom due to the Stark
effect. Ej is the Rydberg constant for Hydrogen (-13.6 €V), and n = 3apeé&’. The eigenstates of the
unperturbed Hamiltonian are denoted |n = 3,¢,m).
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2 Problem #2: Spins in Inhomogeneous Magnetic Field.

In an atomic beam experiment atoms with total angular momentum quantum number j and a
definite projection m; along a specific axis n pass through an inhomogeneous magnetic field, B =
B(y)z. The magnetic moment operator for the atom is proportional to the total angular momentum
operator, J ,

where ¢ is the gyromagnetic ratio for the atom in its ground state, and e and m are the electron
charge and mass, respectively, with ¢ being the speed of light. If the direction of the magnetic field
is not along the quantization axis of J for the atoms, the beam is observed to separate into 25 + 1
component beams. For atoms with j = 1, determine the relative intensities of the three beams if
the incident atoms have a definite value of n-J = i along an axis n, that makes an angle ¥ with
respect to the direction of the field.

For j = 1 we can express the vector of total angular momentum operator? in matrix form as

oy (o1 0 —i 0 V2 00
J=—1|11 0 1|x+|¢ 0 —i|ly+|0 O O0 |z], (54)
v2\lo 1 0 0 i 0 0 0 —V2

and an arbitrary unit vector n can be written

n = sin ¢ cos px + sin ¥ sin gy + cos vz , (55)
so their dot product, the total angular momentum projected along the axis n, is®
R X V2cost¥ sinfe 0
Sh=n-J= 7 sin Ye'? 0 sin de = (56)
2 0 sine®  —v/2cos? .

Since, for j = 1, there are three possible projections my of the total angular momentum along the
axis n, the three eigenvalues of this matrix are +h and 0. If we consider atoms in a state with a
definite projection in this axis of A, the state of the atoms is the eigenvector corresponding to this
eigenvalue. To find this vector, we solve the equation

5 V2cos® — /2 sinde 0 «
— sin Je’¥ —V/2 sin e~ Bl=0, (57)
V2 —
0 sinve®® —v/2cost — V2 . ¥
for the elements «, 5,7. We can see this results in the conditions
0= aV2(cost — 1) + Bsinde ¥ (58)
0 = asinde’ — fv/2 + ysinde (59)
0 = Bsinde™ — yv/2 (cosd + 1) . (60)
Solving the first and second equations we find
, —Bsin , in
e = — BV 4 e PSmY (61)
V2(cos — 1) V2(cos ¥ + 1)
“In the form of the spin operators for s = 1. The basis for the matrices is {|m, = —1), |m, = 0) ,|m, = 1)}.

5To get to this form, we note sin® cos ¢ + 4 sin ¥ sin ¢ = sin ¥(cos ¢ + isin @) = sin Ye*.
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which we can plug into Equation 59, to find

sin? ¢ sin? ¢
"= o1 oo 1) -
sin?®¥  cos® + 1 sin?9¥  cos? — 1
O:ﬂ(_cosﬁ—lcosﬁil_ +cosz9+100s19—1> ’ (63)
and we note
(cos® —1)(cos 4+ 1) = cos® ¥ — 1 = —sin® ¥ , (64)
so the equation for g8 reduces to
0=/ (jcos?d+1] —2 —[cos? — 1]) = B(0) , (65)

so [ is a free parameter, and we can determine « and ~ using Equation 61, and setting 5 = 1. We
can then calculate the normalization factor for this eigenvector:

1 2 2 2 ( —sind )2 ( sin 9 )2
NZ T + + === +1+|—=—"—= 66
N? o g g V2(cos ¥ — 1) V2(cos ¥ + 1) (66)
sin? ¢ 1 2 1
2 <(COSI9 —1)? * sin? 9 * (cos ) + 1)2> ’ (67)

using a common denominator, we can express this as
1 sin? 9 sin? ¥(cos ¥ + 1)% + 2(cos ¥ — 1)%(cos ) + 1)2 + (cos ) — 1)?sin? )
N2 2 (cos® — 1)2sin%9(cos ) + 1)2 ’

(68)

we can cancel the two factors of sin?, and use Equation 64 to write the denominator as sin® .
Using the same trick on the middle term, the numerator simplifies to

sinZ9(cos? ¥ 4+ 1 + 2cos ) + 2sin ¥ 4 (cos? ¥ 4+ 1 — 2 cos® ) sin ¥ (69)
sin? ¥(cos® ¥ 4 1) + 2sin* 9 + (cos? ¥ + 1) sin? 9 (70)
2sin® ¥(cos® ¥ + 1) + 2sin 9 | (71)

which we reinsert to the full expression and find

1 _lZsin219(005219+1)+251n419_(008219+1)+sin219_ 2

N2 2 sin? sinZ ¥ sin29 ’

therefore the normalization constant is N = % sin. We now obtain the eigenvector for the my, = h

(72)

state in the m, basis:

1 —e % sind ' sin
n=h)=—sin| ——mp=—1)+|my =0+ ————|mz =1 . (73
fm ) ﬂsm <ﬂ(cosﬁ— 1) m ) ¥ fm ) V2(cos ) + 1) m >> (73)

The probabilities of an atom with my, = kA to have a spin m, are given by

1. sin? ¢ 1. 1 9
Plme = ) = lof /N = gano (gt ) = gento (Gt 5)
P(m, =0) = |6[2/N2 = %sinQﬁ (75)
1 sin? ¢ 1 1 9
P(m,=1)=|y*/N?==sin®’9 | —————— ) = =sin®?9 [ =cot®>= | .
(m )= |7/ 5 sin <2(COS19 n 1)2> 5 sin 5 co 5 (76)

Since the inhomogeneous magnetic field (in the z direction) splits the incident beam into three
beams based on their m, values, the relative intensity of the three beams is given by the probability
of an incoming atom with a definite my,.
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3 Problem #3: Spin of Electron.

Spin is an observable property of the electron described by a set of three Hermitian operators,
S = (5}, S”y,ﬁz), corresponding to the three orthogonal directions in space. The spin operator
acts on a two-dimensional subspace of the Hilbert space of the states of the electron. Experiment
demonstrates that there are only two possible values, :I:g, for the spin S along any axis n in
space, and two associated states which we denote by |n+) corresponding to the value +% and |n—)
corresponding to the value —%. Experiment shows that if we prepare the electron in a state |n+)
then measure spin along a different axis m, the probability of measuring the electron with spin +%
along m is | (m + |n+) |2 = cos? /2, where m - n = cos V.

3.1 Projection Operators to %..
Let B, = {|z+),|z—)} denote the eigenvectors of S, corresponding to :l:g. Construct the projec-

A

tion operators P, corresponding to these two eigenvectors, and the operator S, in the 4. basis.

Any state that exists in the two-dimensional subspace of Hilbert space the spin operators act on,
can be expressed in the basis £, as
o
m = () - @

where the basis vectors are the states with spins aligned and anti-aligned with the z-axis:

2t) = (é) l2—) = (‘f) . (78)

Let us define ]5+Z as the operator that projects a state onto the |z+) basis vector. Operators in
the two dimensional subspace are 2 x 2 matrices. Therefore the action of this operator on the basis
vetor is the identity, )

Piglz+) = |z+) (79)

which can be represented in matrix form as

vamn=[2 )-)

from which we see a = 1 and ¢ = 0. The projection of |z—) onto the orthonormal vector |z+) is

rewo=[s 4 )

and we see b = d = 0. A similar process can be used to determine P,

P =[] 0)-0) = {0 28
10-0) - {2

Therefore the operators that project vectors onto the basis vectors are

Zero:

Q

[an}

Pale) = |

)

EFEB} AFBQ} (84)
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Let us now consider the action of the spin operator S. on the basis vectors. Using the eigenvalues
of this operator for the states with spin parallel to the z axis, we see

~ h h o~
Sz |Z+> = 5 ‘Z+> = §P+Z |Z+> ) (85)

using the fact that the eigenvalue of the +2z projection operator is one for |z+). Let Q be any
arbitrary operator that has an eigenvalue of zero for the vector |z+). Then we can express the spin
z-projection operator as S, = (h/2) Py, + €2, so its action on the other basis vector is

. h - A h
S, |z+) = <2P+z + Q> |z+) = —3 |z+) (86)

N h -
0+ Q|z+) = —§P_z lz+) , (87)

We have only enforced that |z+) is not an eigenvector of (), which does not restrict its action on
|z—).Using this, we see

A hof- - il 0

&—2@%—Rﬁ—zk 4}’ (88)

which is the spin projection operator for the z-axis. The eigenvalues of this operator are the

magnitudes of the z component of the state’s total spin angular momentum s = %

3.2 Spin Aligned with Perpendicular Axis: z-axis.

For an electron in the state |z+) the probability of measuring :I:% along the orthogonal x axis is
x £ |z+) |2 = 1. Construct the projection operators Py, assuming that the projectors are real

2 J g J
(this amounts to a choice of the phases of the matrix elements of the projectors in the basis 4., ).

Now consider the states with spin aligned along the x axis: {|x%)}. We can express these in &, as

xi=(5) = (3) - (59

with «, 8,7, € R, and we enforce these also form an orthonormal basis that spans the two
dimensional substace of Hilbert space. Using the probability of measurements along perpendicular
axes, we see

1 9 1
— = | (x4 |z+ = X+ |z4+) =+—,

if we assume the inner product is real (and similarly for |x—)), additionally we will pick the positive
root becuase an overall sign will not effect the results. We then get

i y)=7 = o= (91)

uwwﬁz% :5:%, (92)

since the negative z axis is also perpendicular to the positive and negative x axes. To find the state
with the negative eigenvalue of S,, we enforce orthonormality:

(x—|x+)=(7(5)<%£>:0 = 7+0=0 (93)

(90)

<x_yx_>:<75)(}):1 = Prsl=1, (94)
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so vy = —8 = 1/4/2. So we see, in the basis %., the eigenstates of S, are

=) -5 ()

We now consider the projection operators pix, which project a state onto the indicated basis
vector. We can determine these projectors in %4,, using the same method as the previous section,
noting:

Pixlxt) = [x+)  Pixlxt) =0 (96)
Polx+)=0  Pix|x—)=|x—) . (97)

To project onto the state with the positive eigenvalue, we have
- a b| (1) 1 1\ 1 a+b =1
P |x+) = — = — = 98
b0 0% - [0 -
- a b 1 1 a—b =0
Pix|x—) = — =0 = , 99
wi= [0 () = e o o
and to project onto the state with the negative eigenvalue:

_ﬁxmﬂz[§£}6>;2zo = {;ii Zg (100)

e b0 C)d - T

Using the equations for the matrix elements of Piy, we get the results

. 11 1 - 171 -1
H“_zL J R*‘z{& 1]' (102)

We can then use the same method as the previous section to determine the spin operator S.:
N h h o~
Sbot) = 5 bk = 5 P ) (103)

using Equation 96, to insert a projection operator. Again we introduce an operator that obeys
Q|x+) = 0, so that we may write

G= Pt = Sifxe) = 2xe) (104)
h o~ A h o~

o Prx[x=) + Qx—) = g Px |x—) (105)

Q) = 2P x| (106)

using Equation 97. We see that if Q = (/2)P_y, the eigenvalue associated with |x—) is indeed
zero, as we required. Therefore, the spin z component projection operator is

&:Z(Ex—Pﬂ):Zﬁ ﬂ. (107)
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3.3 Spin Aligned with Second Perpendicular Axis: y-axis.

From the measured probabilities: |{y + |z+)[> = 1 and |(y + [x+)|> = % find the projection
operator ]5+y. Eliminate the ambiguity in the matrix elements by choosing the phase angle of
(z + | Pyy|z—) to lie between 0 and 7. Construct the projector for the state |[y—).

We now consider states that have spins perpendicular to both previous axes: y. Since we are in the
basis 4, , the derivation of these states should be similar to the derivation of the states for the x
direction. Let us assume we can now allow complex projections of the |y+) states onto |z+). We
can then factor out and overall phase to write the eigenstate of S, with the positive eigenvalue as

y+) = <ﬁ;~¢> , (108)

where ¢ is the relative phase angle of (z + \]5+y|z—), and «, 8 € R. Applying orthonormality, we
enforce o + 32 = 1. From the measured probabilities we see

(GHlaP =3 = =ttt =(as™)(f)=a (109

so we see @ = 3 = 1/v/2. We can then write the projection of |y+) on |x+) in the measured
probability as

% = [y +[x+) = | (y + |z+) (2 + |[x+) + (y + |z—) (z — |x+) [ (110)

by inserting a completeness relation 1 = ), |i) (i|. We can insert the appropriate inner products
to obtain

2

L PO S S i ~i
5 = a\/i+ﬁe 7 f2(a+ﬁe )+ Be™?) (111)
_ %(a2+52+a56i¢+a56—i¢) (112)
= é(oﬂ + B2 + 203 cos ) (113)
1/1 1 1
= 5 (2+2—|—22COS(Z5> (114)
1=1+cos¢, (115)

so we must have that ¢ = (2n + 1)7, where n € Z. However, if we restrict the phase angle to the
domain (0, ), we get ¢ = 7/2. The eigenstate of S, associated with the positive eigenvalue is

-5 50)-

We can now determine the state with the negative eigenvalue: |y—) = =y |z+)+id |z—) with 7,0 € R,
by enforcing orthonormality:

(v — Iy+) = 0 = (y (| — 6 (a]) (é )+ z—>) — 5 (=87 =943 =0 (7

(y—ly-)=1=+"+6, (118)
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from which we see v = —6 = 1/v/2. So we can write the eigenvectors of S*y in the basis %,:

vi= (i) o= (L) (119

Now that the eigenvectors have been determined, we can use the method applied in the previous
two sections to determine the projection operators P.x. We use the equivalents of Equations 96
and 97 for the y direction to write, for the state with the positive eigenvalue:

[ O F R e = N

A a b| (1 1 a—1b =0
Polvr= [t o (1) =0 = {Hd 0 (121)

from which we see a = ib and ¢ = id, yielding b = —i/2 and d = 1/2. For the state with the

negative eigenvalue:
- e fl(1\ 1 e+if =0
P_yly+) = ] —==0 = 122
y’y ) [9 h] <Z> V2 {g—i—ih =0 (122)

L (OO P v

so e = —if and g = —id giving the result f =i/2 and h = 1/2. The projection operators are then

- 1{1 4 - 11 —3
Pﬂ_z[z’ 1] P_y_2[i 1] ’ (124)
from which we can form the spin operator in the exact same fashion as the previous sections. In

the %, basis this is

N T ) R0 —i

Sy:2(P+y_P—y):2[i 0] ) (125)
with eigenvalues that are the magnitude of the projection of the spin angular momentum onto the
Yy axis.

3.4 Spin Matrices in 4,.

From the above, construct matrices for the spin operators: S‘x, S’y, S, in the 2, basis.

The method used in section 1.1 to find S, was applied for S, and S’y to find the spin operators
expressed in the basis &, = {|z+) , |z—)}. The general result for an arbitrary axis is

A h .

S, = §(P+n - P, (126)
so the spin operators are
S, = g (1) (1)] (127)
S, = g (Z] _OZ} (128)
S, = g (1] _OJ (129)
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4 Problem #4: Hydrogen in Magnetic Field.

Consider the non-relativistic theory of the Hydrogen atom and initially omit the spin of the electron.

4.1 Ground State Energy Shift.

Calculate the shift in the ground state energy for Hydrogen in a uniform magnetic field. Compare
this shift with the relativistic shift of the ground-state energy. At what field strength are they equal?

The Hamiltonian for a charged particle of mass m, charge e, in the Coulomb potential is

N 1 e 2 g2
zfA—fAA}—f, 130
2m {p c () 7 (130)
where, for a uniform magnetic field, the vector potential can be expressed as A = —%f‘ x B, where

B is the magnetic field, which is a constant, and therefore commutes with all observables. Let us
multiply out the kinetic energy term:

. 2 €y e €r -
[D—qA()]" =p + AT - P-A-"A-D, (131)

since the momentum operator commutes with the vector potential (just a function of position).
Substituting in the vector potential, we see

P —qA®) ="+ {5(ExB)’ + [~ (¢ xB) + (£ x B)-pl (132)
2
= 7?4+ 5 (’B? — (£-B)") + = [B- (p x ) + (b x 1) - B] (133)
2
A A A € A A
=+ B (¢ BY) + SB(px#) - (xp)B] (134
— i+ 15 (B (i-B)) + - [B-~(L)~ (L) B] , (135)
we can now define three components of the Hamiltonian:
~2 2
2 p
Hy=—-—— 1
T om  # (136)
e’B?
1= WrL (137)
~ e A~ /"LB A~
H=-——L-B=--—*+L-B 138
2 2me A ) ( )

where, up = ehi/2mc is the Bohr magneton. The component of t which is perpendicular to B is
denoted r . In the case in which the magnetic field is aligned along the z axis, the perpendicular

component is

2 2

2 = 2% 4+ 9% = r?sin® O cos® ¢ + r?sin? fsin® ¢ = r?sin? 6 , (139)

2

which is clearly perpendicular to 3% = 72 cos? 6.

The wave function for the electron in the ground state of a Hydrogen atom, ignoring spin, is

1
1100) = We—r/ao , (140)
0
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which has angular momentum quantum numbers | = m; = 0. This wave function does not interact
with the Hy term in the Hamiltonian, so to find the first-order correction to the energy of the
ground state, we simply calculate

2B2 1 2B2 27
eg) <100\ r sin? 0|100) = c 2/ / / r?sin? =212 sin fdrdode  (141)
ma3 8me

2B2
/ / 12 sin? fe=2"/9012 sin drde | (142)

~ Amad

after evaluating the azimuthal integral. The radial integral is

> 4! 23(3) 3
_ 4 _—2r/a _ _ .5 _ 5
Ir_/o rte /Odr_(Q/ao)S—ao( 55 >—4a0, (143)

and the polar integral is
b

I = /Oﬂ(l—cos2 ) sin 66 — /1_1(1—1'2)(—(190) - (:): - ;x?’) =5 <(—1) + 3> =5, (44)

which we can combine for a factor of a3. Therefore, the energy shift of the ground state due to the
presence of a magnetic field B = Bz, is

232 22712 2.2 92 2
(1) _ 5 B :eaoBZG%O‘Bz:} . 2232:}3232 145
‘1 0t a} 4mc? 8eo 4 \ 2¢ %0 140 (145)

~ (1.97e—30)B? erg = (1.23e—18)B? eV , (146)

when B is measured in gauss®, and using the Rydberg constant for Hydrogen, ¢y = %T)’LCQOzQ, and

ap = €2/(2¢p). From the results of problem 6, the energy shift due to the relativistic correction is

31 5 5 5 13.67
]eg)| = epa? [2 - 4] = ZEQQQ B 602 ~ ST 3eV = 1.45e—15 erg = 9e—4 eV . (147)
me e

For these effects to be comparable in magnitude’, it must be that

(1)] Sepa? e 1 7.34el14 (G)?
1~ R — 40" g0 - 0Ottt — ~27e7 G, (148)
‘61 ’ 1a3a?B? aj B? B? a3
which is incredibly large. We note the term ey / ag is the expectation value of the energy density: it
is the energy of the unperturbed ground state divided by the mean volume of the Hydrogen atom
in the ground state.

SDimenionally:

HBH _ (esw)(em)® (S)° ((em)*/2(g) /2 (s) ) 2 2

4mc? 2 = g(em)i(s)—2 = (cm)7g(s) " =erg

Lt = e (2, = ™ 2

cm) cm

"Dimensionally:

[58]] = o = S = S - (&) =er
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4.2 Hydrogen Atom Magnetic Susceptibility.
Based on the above ground state energy calculate the magnetic susceptibility of the Hydrogen atom

and discuss the implications of your result.

Consider the term H; in the Hamiltonian:

. 252 2 2
H=""#=_ (B2 (#B)?)=_°

8mc? 8mc?

(T2BZ'BZ‘ — (TiBi)(Tij)) N (149)

8mc?
using Einstein notation. By introducing the Kronecker delta, we can write the interaction term as

2 2
° (32 (TZBZ‘BJ‘(SZ']‘ — (TZBZ>(T']BJ)) = — € (B TZTJB B r (5sz ) (150)

ﬁ =
! 8Smc2

which leads to the definition of the magnetic susceptibility,

2
- € )
Xij = 747%02 (Tﬂ”j - T 51]) N (151)
so the interaction can be written 1
Hy =~ BiXiB; . (152)

Since we have B pointing along the z axis, the only component that contributes to the interaction

is
2

2
o ¢ 2 2y _ ¢ 2 .2 2\ _ € 2.2
X33 = (" —r%) = Tmed (r*cos® 0 —r?) = ~ Tz’ sin 0 . (153)
The ground state has a magnetic susceptibility given by
. e 2 . 2
X100 = (100]x4;]100) = — 2 (100|r* sin” 0]100) , (154)
the inner product is given by
27r
(100r% sin® 0]100) = / / / 72 sin? 0)e 27/ (+2 sin Odrdfd o) (155)
wao
2 (3 4
= _—3 _QT/aOdr/ sin® 0df = — < a8> () =243 , (156)
and the magnetic susceptibility of the spin-less ground state is then
2 2 2 2.2 2 22
e 9 e“ag e“ago (2ap)aga 1 45 4 3
=——(2a%) = =— =— =—— = 3.95e—30 157
X100 4mc2( %) " 2me? 4eq 4 9 o e=30cm™,  (157)

which because the susceptibility of the ground state is negative, it is diamagnetic. Note we can
alternatively express the susceptibility as

(1)
X100 = —2-5 . (158)
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4.3 Spin Magnetic Moment.
Now include the spin of the electron. Calculate the mean magnetic moment for the Hydrogen in

its ground state in a field B. Is the ground state paramagnetic or diamagnetic?

If we now include spin, the an additional term is added to the Hamiltonian:

A~

H, = —ge%BS B= —2%335“2 , (159)

because the magnetic field is aligned with the z axis. This contributes a first-order energy shift

e = —2‘%93(100ms|§z|100m8> : (160)
where mg is the spin angular momentum z-projection quantum number (note the total spin angular
momentum quantum number s = %, SO Mg = :t%) The energy shift is then

B
el = —Q%B(hms) = FupB , (161)

which is simply the Bohr magneton times the magnitude of the applied magnetic field. The negative
energy shift corresponds to ms = % term and the positive shift corresponds to the mg = —%. The
energy of a magnetic dipole moment is given by

H=-p B, (162)
which if we bra- and -ket with the ground state, we see
<100|I:I\100> = (100| — p - B|100) = — (100||100) - B = — (i) - B, (163)

where the term on the left hand side is just the energy shift due to the spin interaction with the
magnetic field plus the correction from the term from section 4.1. Substituting in these two values,
we see

1
eV + ! = FupB+ Jaja’B? = — (u) - B, (164)
Therefore the mean magnetic moment of Hydrogen in the ground state is
L34
(u)y = £up + 7000 Bz, (165)

where z is a unit vector in the z direction. If the magnetic moment is negative, the energy is greater
than zero, and the moment is anti-aligned with the magnetic field and is therefore diamagnetic.
If it is positive, the energy is less than zero, and the moment is aligned with the magnetic field,
and is paramagnetic. The spin term dominates the expression and the dia-/para- magnetism of
the ground state is determined by the spin of the electron: it is diamagnetic if mgs = —% and

paramagnetic if mg = —1—%. For the spin of the electron not to matter, we have

1 4
pp < ~a3a’B = B> 2 ~29510G, (166)
4 aga

which is incredibly large. It is safe to say, that on earth, the dia-/para- magnetism of the ground
state of Hydrogen is determined only by the spin projection quantum number m.
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4.4 Hydrogen Gas Magnetic Susceptibility.

Consider a gas of atomic Hydrogen at temperature T in a magnetic field of strength B. Calculate
the magnetic susceptibility of the gas including both the first- and second- order field terms in the
Hamiltonian. Note: you need to calculate the equilibrium occupation of each level of the magnetic
doublet. Plot your result as a function of B/T. Comment on the sign and magnitude of your results.

Since the correction due to the magnetic field without spin is much lower than the correction due
to the spin interaction, we can neglect that and say the energy of a state is (from Equation 161)
€ = FupB. Consider an ensemble of N Hydrogen atoms, where N, of them have electrons with
ms = —i—% and N_ of them have electrons with m, = —%, so N = Ny 4+ N_. The occupancy ratio
for each spin projection is

N, e (rBB)B N_ e (uBB)B

- _ e — 167
N 7 N z ’ (167)
where = 1/kpT is the inverse temperature, and 2 is the partition function, given by
7 = Ze*ﬁe = e 1BB8 | on5BB — 9 cosh(upBp) . (168)
€
The net magnetization of the ensemble is the net spin projection times the Bohr magneton:
N _ 2sinh(upBp)
M = (—pg)N N_= 7(,“335_ “BBﬁ):N— 169
B
= Nuptanh(upBf) = Npuptanh <%> (170)
B

note the magnetization is either along the positive or negative z axis (sign determined by above
equation). The magnitude of the result makes sense. Each atom contributes a Bohr magneton to
the total magnetic moment, and the maximum and minimum mangetizations are £Nup, which
correspond to all the spins aligned, either up or down. For some combination where the spins are
not all aligned, we only get some fraction of this maximum magnetic moment, see the plot of the
magnetization in Figure 2.

T M3

L

== - glNpy ~ - - -

Figure 2: The net magnetization of a gas of N Hydrogen atoms, each with magnetic moment +up,
where pp is the Bohr magneton.
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5 Shankar ~15.2.4: Total Angular Momentum of Electron.

Consider an electron moving in the Coulomb field of a proton. The Hamiltonian commutes with
52 L2 J%2and J, =L, + SZ, where S, = 20Z Find the two-component Pauli spinor eigenfunctions

of the form e
A . 1(r
W(r) = (w(r)) ; (171)

for this set of commuting observables. For an electron in a state with angular momentum quantum
numbers, (¢, j,m;) calculate the possible values of the orbital and spin angular momentum pro-
jections (L, and S.), and the probabilities for observing the electron with these spin and orbital
projections. Calculate the mean values of L, and S, for an electron in the state |/, j,m;).

For an electron, s = %, so for any value of [, there are only two values of j =1 + % (since j must
have integer steps between levels). We know the total j states: [j,m;) = |l & %, m;), but we want
these in terms of states with definite m; and mg: |1, my; s, ms) = |1, my; %,m5> = |l,my;ms). For a
given m, there are only two values of m; that can give j = [+ 3:

L+ dmg) = allm =5 d) + Bllm+ 5 —1) = ala) +518) (172)
= Lom)) =~ lm— L1y 46 m+ -1y =qy) +65) . (173)

We can use orthonormality to show

I+ 5. mill + 3,m;) =1=a* + |8 (174)
(1= 5,myll = 5,m;) =1= |y + 6] (175)
<l+27m]|l 2,m]>=O—a7+56 (176)

but to uniquely determine the constants «, 3,7, we need a fourth constraint. Consider the action
of the total angular momentum operator:

T jym) =G+ 1) jm) = TP gm) =R+ )0+ Q£ £5m) (177)
T+ Em)y =20+ H+ )+ 1m) (178)
TN = gom) = K21 = )+ 5) [l = 5,m) . (179)

Additionally, if we write J=L+ S, we can express the total angular momentum operator J? as
JP=I1?+8%+2L-S=1*>+5%+2L.5. +L_S, +L.S_, (180)
let us act each of the composite operators on the j =1+ % state:

L2l 4 3,m) = R+ 1)(a|a) + B15)) (181)
S (1 + 3,m) =h28(8+1)=7h2(a|a>+/8|ﬁ>) (182)
20,5, 1+ %,m) =2L.S.all,m—3; 1) +20.5.8(l,m + &;—1) (183)
= 2N (a(m — 5)(3)|Lm = 35 5) + B(=5)(m + 3) [, m + 3:—3)) (184)
=h[(m—3)ala) — (m+3)B|5)] (185)

= h[m(ala) = BB)) — 5 (a|a) +B16))] - (186)
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It is now useful to note the eigenvalues of spin raising and lowerlng operators:

Jr=/j(G+1)—m(m=1), and S; |ms = 3) = 0= S_ |my = —1). Therefore:
L_Si|i4+3m)y=al_S;|l,m— 34y + BL_S, |l,m+1;-1) (187)
=0+ 5y/3 — (-D(-1+ DL [Lm+L+D) (188)
= B\l +1) — (m+ Hm = ) fom — 5;3) (189)
= B 10+1) — (m2 = 1) |8) (190)
LS fi+5m) =aly S jlm =5 3) + 8Ly S jtm+ ;-1 (191)
= oy/3 — (DG = DEy Lm = 5-3) +0 (192)
= A1+ 1) — (m = 5+ D llm— 4 5) (193)
= B\JI+1) — (m2 — 1) | (194)

Summing these up, we have

Jala) +56) = {h2 (+1)+ h2 +h< ;) 10+ 1) — (m2 i)i} ala)  (195)
+{h21(l+1)+ih2—h(m—;> 1+ 1) — (m? i)g}mm (196)

which simplifies to

T ala) + B16)) = K+ 1) (a Ia>+5|ﬁ>+zh2(ala>+ﬁlﬁ>) (197)
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6 Shankar ~17.3.4: Hydrogen Fine Structure.

The fine structure of atomic levels is determined by the leading order relativistic correction to the
kinetic energy of the orbital motion of the electron about the nucleus and the spin-orbit interaction
between the intrinsic magnetic moment of the electron (¢ = 2) and magnetic field in the rest frame
of the electron. For Hydrogen

2 2 A2\ 2 2
- D e 1 D 1 e“\ a ¢
H=—_-—— — —1)—=|=])S-L. 198
2m 7 2mc? (2m> 9 )2m262 (f3> (198)
The first two terms are the kinetic and potential energy of Hydrogen in the non-relativistic limit.
The second term is the leading order (in v/c) correction to the kinetic energy, and the third term

is the spin-orbit interaction, also of order v/c. Show that the energy levels of Hydrogen to leading
order in v/c are given by

)\ 2 n 3 1
e )1 (7) A T i P
€Enlj en{ + n <]+5 4>} J 2 J =

with €, = %oﬂmcz /n?%, where o = €2 /he is the fine structure constant. Specifically evaluate the

relevant radial integrals, sketch the level structure for the the n = 2 shell and label each level with
the quantum numbers n,l,j. What is the wavelength of radiation associated with a 2ps <2 p1
2 2

, andl=0,1,...,(n—1), (199)

N =

transition?

Lettuce begin by defining the the total Hamiltonian as the sum of three components, as follows
H = Hoy + Hg + Hg , (200)

where ﬁo is the Hamiltonian for an electron a coulomb potential created by a proton, I;TR is the
relativistic correction to the kinetic energy, and Hggo is the potential energy due to the spin-orbit
interaction of the electron. The eigenvalues of the Hamiltonian, to first-order are then

nt = (0, O i)+ (W VRIS Y 4 (080 O ) (201)

where \wgznjm) are the unperturbed states of Hydrogen. The first matrix element is just the

energies of the Hydrogen spectrum, —e, = —¢p/n? where ¢ is the Rydberg constant for Hydrogen:

€y = %oﬂch.

6.1 Relativistic Correction.
The relativistic correction to the kinetic energy is given by the third term in Equation 198,

Hg = ! <ﬁ2>2, (202)

“2me? \ 2m

which gives (noting that since this correction does not depend on spin we can ignore it and the
quantum numbers (I,m) and (j,m;) are redundant, so we are free to relabel our eigenstates as

|1/}7(37)n)) first order corrections to the energy of

R 1 .
) = (W Rl =~ 5sss om0 (203)
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but using the unperturbed Hamiltonian ﬁo, we can write® the momentum operator as
R pQ 2 e2\ 2
4—om)? (L) =am?(H)+ — 204
o (5 0+ ) (201

so the relativistic correction becomes

1 62 1 o e e?
4 = s 01 (o 2) ) = 5L 0 () 2+ (2 10 o)

2mc? 2mc?

after expanding the square. Using the fact that we know the eigenvalues of the unperturbed
Hamiltonian we can write this as

1 1 _ _
) = =g [(en) + 2enc? (I W) + e D2 (206)

which is easily evaluated if the expectation values of 7~! and r=2 are known. The first is easy to
calculate using the viral theorem?, which yields

0 _
—2e, =2 () )y (207)

reducing the first order relativistic correction to

2

R (208)
6R_ 2m2 2 nlmT nlm .

The final expectation value can be calculated by considering a perturbation to the Coulomb Hamil-

tonian of the form \/r?:

- - A
H'(N) = Ho+ 5, (209)

which we note has the same r dependence as the centrifugal term in the radial wave function of
Hydrogen'®, which means we can express the Hamilton including the perturbation as

- 2 2m e 1 (RA(1+1)
H/_{dﬂ+hZ[E+r TQ(M+/\>]}UE1_O, (210)

so the exact eigenstates are those of Hydrogen but with a modified centrifugal term. For this to be
the case, we must have the coefficient of #~2 in the form (h2/2m)i(l + 1), so we have the condition

;21(1 +1) = :i (za 1)+ Q;;A) (211)
11+ 1):l(l+1)+2;n—2)\, (212)

so if we write [ as a function of A, we have the energy spectrum?!:
E(\) = — me —EO 4+ EM 4 | (213)

202 (K + 1(\) + 1)2

8Following the treatment in Shankar, page 466 to 471.

9Shankar, Principles of Quantum Mechanics, 2 ed. Equation 13.1.34.
10Shankar, Principles of Quantum Mechanics, 2 ed. Equation 13.1.2.

1Using the energy spectrum of Hydrogen, Shankar equation 13.1.14.
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where k is the number of nodes in the eigenfunction, with k,l[(\) € Z. The above expression
for energy, is the exact result, be we are only interested in the first order correction due to the
perturbation A\ /72, so we can Taylor expand this around A = 0, and consider the second term (linear

in A\)
<)‘2> — M = (8E()\)> .Y @g (214)
r oA 20 ol OX ] o
using the chain rule. Let us calculate these derivatives:
4 —
6E(~)\) _ <_m62) < E 2) ) (215)
ol 2h (k+1(\)+1)3
-dl Al 2m dl 2m
A~+—~="7 => 7w = 5, 216
d\x  dA h dA  R2(20(\) + 1) (216)

and we can note that /(A = 0) = [. We can now write

<7“A2> - <ﬁ2(k Tel: 1)3> h2(22lm+ y - (277;64 (k+1+ 11)3(21 + 1)> ’ (217)

but we have the principal quantum number n defined as k& + [ + 1, and define the Bohr radius
ao = h?/me?, so we have

A me? 2m m2e? 1 1
<r2> <h2(k+l+ 1)3> R2(20 4 1) ( Bt n3(1+ ;)> %o n3(l+3) (218)
We can now write Equation 208 as
2 4
(1) €, e 1 1
€n’ = — 1-44+ 5| 5——
R 2mc? [ €2 <ag n3(l—|—§)>

An alternate expression of the Rydberg constant for Hydrogen is ¢y = %%, so that 64/ag =
(23€?/ak)?* = 4€3. This makes simplifies the final term to

NON e g4 2 /nt 4n . é 3 4n
R 2mc? 2 \(+3)

T 2me?
using the fine structure constant, we can write the unperturbed energy levels of Hydrogen as

(219)

, (220)

+(z+%)

L o4 24
€ = P m?ct (221)

which we can insert into our result to obtain

042

—€n—5
n2

(lj:%) - i] . (222)

o _ 1 2\2 4 3 1
ER ——§(mc)a [—47144‘”3@_’_%)
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6.2 Spin-Orbit Correction.

Consider the total angular momentum operator J=L+ S, the square of this operator is

JP=1?+5%4+2L-S, (223)

by noting that L and S commute. We can write the spin-orbit perturbation as
fo=@-1)-—- (Vs 1= (2_i2- & (224)

50 = 2m2c? \ 73 © Am2e273 ’

and the basis that diagonalizes this perturbation is |n,lsjm;), where m; is the total angular mo-
mentum projection onto the z axis, and since we are dealing with an electron, s = % We can note
for [ = 0 this term vanishes, because the eigenvalue of L= 0, furthermore this means [ = 0, and so
j = s, and the term vanishes regardless of the expression chosen. The first order correction to the
energy due to this perturbation is

2
1 e . 1 A “ ~ )
eéO) - 4m?2e2 <na L %7]7mj|f3 [‘]2 - L? - 52””’ L, %’]’mj> (225)
G (n, Ur—*|n, 1) (< i|7215) — (1| L2)1) — <l!§2!l>) (226)
4Am2e2 V7 ’ JI 2 2
2
& . _
=132 RG+1)—1(1+1)— 3] ), (227)

where only the relevant quantum numbers are listen on each inner product. Again since s = %, we
have j =1+ %, so, the angular momentum sum becomes

(£ +0xH-P-1-3=x1-3FD), (228)
which give the results [, and —(I + 1). These give upper and lower bounds on j, but it can take

any value in between these, in integer steps. In this case, we have that j must be an integer.

Now we must calculate the expectation value of =3 for a state with arbitrary n,[. First consider
the radial momentum

1 2 1 1 1 1
ﬁr:—ih<a+r>:>ﬁ3=—h<a gt 0 -+ a> (229)

or or? rdr 12 ror
? 20
— K2 27 230
<8r2 + r 8r) ’ (230)
and if we note 5 5 5 o o 5
— = = | 2r— — | ==+ - 231
T28rr or Tz(rﬁr—’_r 8r2> 8r2+7“8r’ (231)
we can write the radial kinetic energy as
o) 2
pT ﬁ 1 8 2 (9
-~ T2 232
2m 2m r? 87“T or (232)

If we substitute the definition of the total orbital angular momentum operator'? and the radial
kinetic energy into the Schrédinger equation in spherical coordinates!?, we find

ﬁ? 2
- (233)

g b
2m = 2mr?2

13Shankar, Principles of Quantum Mechanics, 2 ed. Equation 12.5.36.
13Shankar, Principles of Quantum Mechanics, 2 ed. Equation 12.6.1.
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for the Coulomb potential. We now consider the commutator of the Hamiltonian and the radial
momentum, in the energy eigenstates |nl):

(nl|[H, p,]|nl) = (nl|Hp,|nl) — (nl|p.H|nl) = e, (nl|p.|nl) — (nl|p.|nl) e, =0, (234)
so these operators commute in the hydrogen energy eigenbasis. We can now explicitly calculate the
commutator:

~9 72 2 )
& Pr L e” L= 1
i _ _ ~ | = —|= 235
[ 7pr] om + 272 , 7p7“] 2 y Pr |:rapr:| ) ( )

where the first commutator is zero, because every operator commutes with itself. Since the angular
momentum operator only depends on angular coordinates and the radial momentum only depends
on the radial coordinate, [L?,p,] = 0, so we just need to know the commutator,

[P ] =" Py — P (236)
we can compare this to [f(x), p,], where f(x) is an arbitrary function. The canonical commutation
relation tells us [f(x), ps] = hg—f

—n A . 8 —n . —(n+1)
[r~ ", pr] = zha— (r=") = —ihnr . (237)
r
With this information, Equation 235 becomes
R 0, o (112 51
[H,pr] = 2m( 2ihr—3) — e*(—ih~?) = —ih (mr3 s (238)
which we know in the energy eigenbasis is zero, so
, 102 4,1 1, L2 s, 1
0= —zh(nl|gr—3 —e T—2|nl> = <nl\r—3|nl> —e <nl|r—2|nl> (239)
P21+ 1
¢ (nllr=2lnty = D =3 (240)
m
which if we substitute in Equation 218, we see
2 (r? 1 1 1 1
=T ) = . (241)

R2Al+1)  al(l+1)a2n3(+1)  anl(+1)(1+3)
We can insert this to Equation 227 to obtain the result

o R 1 G+ -1+1) -3

€3y = , 242
SO ™ 4m2e2 agn? 11+ 1)1+ %) (242)
we can express the constants as follows:
272 31 _ 1 e : me?\ _ n e‘; 1 ne _ a2l (243)
Am2c? agn? n3 4m2c2a2 \ K2 nt ag me2 me2 4 n3

If we choose the expression in terms of the Hydrogen energy levels, we find the first-order energy
correction due to the spin orbit interaction is
W _ o on jU+D) -0+ -3 1 a?j(i+1)—10+1)—3

SO Mm@ T i+ i+ Y 2™n 10+ 00+ (244)
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6.3 Total First-Order Energy.

The total energy for a state |nlj), to first-order, is given by the sum of the three contributions
€nlj = —€n + eg) + e(sl(% , (245)

which, gathering our results is

2 3
3 1 +1)=Il(l+1)—¢
€nlj = €n a Ll — =+ = &j(j ) ( ) 4 s (246)
(l+35) 4 2 l(l+1)(l+§)
which we can evaluate for the upper and lower bounds j =1+ %
6.3.1 Electron with j =1+ %
For j = l+ , the numerator in the spin orbit term is simply [, but we have [ = j—3, so Equation 246

becomes

o? ]—*

a? [n 3}
€nlj = —€n—€n— |- — | + —_— (247)
’ n j(j% - 1)

1
2"
_ {1+<E43] 1oy )} (218)
= —¢ 1+a—2 L — (249)
" n\j+3 4n ’

which is the expected result, from Equation 199 (just pull out a facgtor of 1/n from the inner
parenthesis). Note MATHEMATICA was used only for simplification in the final step, because I have
more of this assignment to finish, and algebra is a waste of my time.

6.3.2 Electron with j =1+ %

Forj=1— %, the numerator in the spin orbit term is —(I41), but we have l = j+ %, so Equation 246
becomes

a? [ n 3} 1 o? —(j+ %)
€nlj = —€n —€p— | ——= — | + <€n : ; B 250
& n? i+l 4] 270 (G+5)(+3)0+1) 250
a? 1 31 1 —(+3)
n \ Ly nj 25343240043
3

o? 1
SRV § Ty - 252
6{“&(% 4>} 2%

which is the expected result, from Equation 199.

6.4 First Excited State.
For the n = 2 shell, the first excited state, we have, for both j =1+ %

2
€0 « 1 3
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with [ = 0,1, we see the possible energies for this level are

2 2
€0 a 1 3 € [ da
‘20 T a1} 4 { T3 (%4—; 8)} 4 (16 + > (254)

2 2
€0 (] 1 3 € [«
‘13 4{ +2<g+; 8)} 4<16+)’ (255)

so we see both states are shifted down. These shifts are plotted in Figure 3. The difference in

energy between these states is
Oé2€0
NAe=¢€¢ 3 —¢€

1
215 215 16

(256)

A photon with this energy will mediate a transition between the ?ps and 2p1/2 states. Using the
2
relationship between wavelength and energy, we have

he he (6.626e—27erg-s)(3el0cm - s~1)(1372)
A= |Ae - 16a260 =10 (13.6)eV (257)
_ 16(6.6266—27erg-s)(36100m -s71)(137?) (2589)
(2.18e—11erg)
— 2.73cm (259)

which is in the microwave regime.

E"/q

B o
243)-E2 e
L5y L&k Jlao 4y
a1 2>

Figure 3: Energy splitting diagram of the n = 2 states of the Hydrogen atom, due to fine struc-
ture. Ejy is the Rydberg constant for Hydrogen (-13.6 eV). The eigenstates of the unperturbed
Hamiltonian are denoted |n = 2,1, j).
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